INTERMEDIATE EXAMINATION - 2019 (ANNUAL)

Sl. Code :- 217 l.Com.

Model Set

Business Studies (qdiiy® 3J=gy)
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Instructions for the candidates :-
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Candidates are required to give their answers in their own words
as far as practicable. '
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Figures in the right hand margin indicate full marks.
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15 minutes of extra time has been allotted for the candidate to
read the questiqns carefully.
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This question paper has two sections : Section-A and Section-B.
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In Section-A, there are 50 objective type questions which are
compulsory, each carrying 1 mark. Darken the circle with
black/blue ball pen against the correct option on OMR Sheet
provided to you. Do not use Whitener/Liquid/Blade/Nail on OMR
Sheet, otherwise the result will be treated as invalid.
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In Section-B, there are 25 Short answer type questions, out of
which any 15 questions are to be answered. Each question carries
2 marks. Apart from this, there are 08 Long answer type questions,
out-of which any 04 of them are to be answered. Each question
carries 5 marks.
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Use of any electronic device is prohibited.
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SECTION - A (Objective Type Questions)

T W 1 W 50 T AT U & Rie @iy R fwew Ry ww §
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[50x1=50]

Question No.- 1 to 50 have four options provided, out of which only

one is correct. You have to mark, your selected option, on the OMR-Sheet

Each question carries 1 (one) mark.

1, Jq=] ] ON & —
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C. weIfter

[50x1=50]

B. dTeA

D. 3 w1

The essence of management is :-

A. Co-ordination
C. Staffing

2 T8 anfefe Hify & —
A. SERIEOT
C. dedrepvur

New Economic Policy is :

A. Liberalisation

B. Organisation

D. All of these

_B. fasitevor

D. g i

B. Privatisation



C. Globalisation D. All of these

e gfshar & ®eq & —
A 2 B. 4
C. 6 D. s

The organization steps are :-

A 2 : B. 4
C.6 D.8
TiRIEToT U ufsham & — -

A. =g B. frafia
C. saq D. I &t

Training is a process :-

A. Current B. Regular

C. Continuous D. All of these
=T sravae & — )

A. BIC SUmH # B. #euw SusmH A
C. 98 A H D. g9 9+t

Controlling is necessary in:-

A. Small Enterprise B. Medium Enterprise



C. Large Enterprise D. All of the above

93¢ faxig fas &) fewand & —
A. | B. =erd

C. Haafiar D. 3 gt

Characteristics of a sound financial planning are:-
A. Simplicity B. Liquidity
C. Economy D. All of these

foxira uder &1 yory @Rt ¥ -
A. BIST @1 a1 B. faxira gafgam
C. fa<ira =y D. sH & &g =g

First Function of financial management is :-

A. Procurement of fund B. Financial forecasting
C. Financial Control D. None of these
T B —

A UfRoe B. 3ravgs

C. 3[avgH D. 499 &7 gqid)

Co-ordination is :-

A. Voluntary B. Necessary



10.

11.

C. Unnecessary D. Wastage of time

dSE e I ot & 2t R
A gfy -B. 3
C. ®Ig y9rg =8} D. ggr

By Scientific Management: profits are :-
A. Increased B. Decreased
C. Not affected D. Revival

FIAI B MRAF AR B T g & &
A. anfefe Nfy "B. anfdfe yomeh
C. anfefe faarg D. ¥ |+

Economic Environment of business is influenced by :-
A. Economic policy B. Economic system

C. Economic development D. All of these

A. 91 y9y @7 B. #e0Hq yawer @7
C. S—Ugy & D. 39 &t &7

Staffing is the responsibility of --------————-

A. Lower management B. Middle management
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13.

14.

C. Top management D. All of these

SISt IR S & AR P B geR
A. 08 B. 06
C. 04 D. 02

According to George R. Terry, The type of planning are :-

A. 08 B. 06

-

C. 04 . 02

TS GBS 8T & —

A =g # B. 79t # gfy
C. y=rR ¥ gy D. fasra # gfy

An organization is not helpful for :-

A. Co-ordination .B. Contributes to morale
C. Increase in corruption D. Incentive to growth
HHARGN BT gfdveror ¥ —

A. TR B. s™ravys

C. ffvard D. 47 & gafh

Employees Training is :-

A. Necessary "B. Unnecessary



15.

16.

Y.

C. Compulsory D. Wastage of Money

e eyl @ eftg & —
A. 3T wN B. #e09 R
C. 9 w» -D. 39 9 wR

Direction is related to employees :-

A. Top level ' B. Middle level
C. Lower level D. All level of above
Gired ufhar # fAfgg & —

A. AT BT BT THEIBROT B. o1d &1 fares
C. w8 faaal & &1 digr D, 3 |

Organising process involves:-

A. Grouping of indentical work.

B. Division of a work

C. Assigning work to appropriate persons
D. All of these "

R YSfl P smavdar gl & —
A < =gt & aEram B. 4 @i & forg
C. 4% 4 51 &7 & farg D. @FeERl & T @ forg



18.

19.

20.

Fixed capital is required for :-

A. payment of routine expenses B. purchase of land

C. Depositing in bank D. Payment to creditors
ol e g -

A. IS BT B. am<iR& =gmar &7

C. @St 99IR &7 | D. W&

SEBI is controller of :- -
A. Production B. Insider trading
C. Capital marketing D. Government

ST GO I BT T gAT ¥ —
A. STifRag B. &y
C. IR D. a9

Entrepreneurship is an effort fo create :-
A. Risk B. Profit

C. Jobs D. Business

IRT § FRRT IR-TRPTY G167 2 —
A. dig4q B. &1\9 $fo

C. ATd B gFT D. 9 & &g &
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22,

23.

Working non-government organization in India is:-

A. VOICE B. Common Cause
C. A and B both D. None of these
faqor &1 A B -

A. SUHTTAT Bl B. awrfal ol

C. frHiami o , D. g7 &l &1

The Advantage of marketing is to :-

A. Consumers B. Businessmen
C. Manufacturers D. All of these
Wi Iy o Hﬁlﬂ?ﬁ TEl § -

A. afer ol B. d& 0T

C. 999 1Y D. afer Nifgw

Onwner’s Fund does not include :-

A. Share Capital B. Bank Loan

C. Reserve Fund D. Share Premium
oafel T 8 —

A. arferard B. 3mava®

C. tfo® D. g9 & qdial
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24,

28,

26.

Labelling is :-

A. Compulsory B. Necessary

C. Voluntary D. Wastage of Money

WWW&W@%W?#WWE%W?:—
A. 08 B. 07
C. 06 7 D. 10

Consumer rights under Consumer Protection Act. are :-
A. 08 <B. OF
C. 06 D. 10

W & ARG Uq afefe ey, ufiwd & —
A. SeEfiar B. e
C. Hara+ D. WRpR

Social and economic development of a nation is the result of :-

A. Entrepreneur "B. Planning
C. Operation D. Government
fastma foar Srem & -

A Iqal & e & forg B. faxira araven & forg
C. fasrg daeds & forg D. §9—dus & forg



27,

28.

29,

Advertising is done for--
A. Development of business B. Financial management

C. Sales promotion D. Public relations

Wmﬁmmsﬁé:-
A TH g9 B. & gy
C. urg 9§ ' QD.Emfm‘

Maximum period of treasury bill is :-

A. One year B. Two years

C. Five years D. Ten years
TdeToT 8 —

A. JTqeTH _B. 3frmavgs

C. 999 &1 qafd) D. 379 & &Y g

Supervision is :-

A. Necessary B. Unnecessary
C. Wastage of time D. None of these
= &rf & —

A. TddeTH P “B. faswdr ot

C. Ustip &y D. &R} &y



30.

31;

32.

Controlling is the function of :-

A. Supervisor B. Sales man

C. Manager -D. Employee

g4 gfhar & =Ror & —
A. 07 B. 09
C. 06 ' D. 10

Steps Involved in selection process :-

A. 07 B. 09
C. 06 D. 10
HHATRYT B WesT W R Har & —
A. favrfra dres B. situaiiRe e+
C. foharHs Hmed D. 3HtmaiRe e

Depends on the sweet will of employees :-

A. Divisional organisation B. Formal organisation

C. Functional organisation D. Informal organization

T =8 8 -

A 9HRIP HERd B. 3 @ 9reT

C. 99T P! gaie D. 79 ufshar
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33.

34.

35.

Planning is not :-
A. Mental exercise B. Forward looking

C. Wastage of time D. Choosing process

el W So B I A aravgdar & —
A. A FareEr @ B. anfsfs Hame=i
C. |t gaer o1 | D. 37 w1 &1

The need in development of a country is :-
A. Physical resources B. Economic resources

C. Efficient management D. All of these

ey & 14 gl @ ufqures & —
A. BT BT B. TW0 S&g TR
C. fier s _D. To g A9y

14 principles of management is propounded by :-

A. Henary Feyol B. F. W. Taylor
C. Peter Drucker D. A. H. Maslo
YR H ISRIBRT B AT &) & —

A. T%hdl B. 3w a

C. 9=y D. 39H ¥ B T8
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36.

37.

38.

Liberalisation policy in India has been :-

A. Successful B. Unsuccessful
C. Normal D. None of these
e weme @ — )

A Seeg Uiftg § B. =g #
C.wrdt Freior D. & = &

Planning is helpful to:-

A. Achieving objectives B. In co-ordination
C. Effective controlling D. All of these
ORFRTTT UdeT H 47 Ap] Bl ATl €1 ot & -

A. TF B. sifers

C. wrg D. 3iferdman

Wages given to workers in Traditional Management are :-
A. Low B. High

C. Normal D. Maximum

=1 & &9 d1em & deror 78 ¥ —
A. afdTal &1 aHE B. 4= &1 g

C. Uh G3gql D. t& gfthar

1c



39.

40.

41,

Which of the following is not features of organization :-

A. Group of Individuals B. Group of Machine
C. A Structure D. A process

HHE! fadT &1 9w ® —

A. argar # gfg B. s fAwres

C. UgI=Ifa & 3rawR D. I

Objective of employee’s development is :-
A. Increase in knowledge B. Better performance

C. opportunity of promotions D. All of these

= B 7t BT 9 e T R -
A. RITHT=RUT B. ucuer vt
C. Oy 9l D. 3®herl 9df

Which of the following is not external sources of recruitment:-

A. Transfer of employees B. Direct recruitment

C. Campus recuitment D. Contractual recruitment
FIAET B YR & —

A. ferfag B. #IRRa®

C. 3iu=nfs D. SWRIFT g+
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42.

43.

44

Type of communication are :-

A. Written B. Verbal

C. Formal D. All of these
T B 2

A. fgurar -B. Raf3far

C. sefaeara | D. 4 wf

The leader possess :-

A. Intelligence B. Foresightness
C. Self-confidence D. All of these
wﬁﬂ%ﬂamﬁwww:@%ﬁmm%ﬁ -
A W B. gyret

C. 3rge D. @mei=

In - effective communication language should not be :-

A. Express B. Impressive
C. Ambiguous D. Courtesy
=T &1 FetEr e ¥ o~ -

A. fa=my B. wHefH

C. ug=< D. g9 9 &I =g
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45,

46.

47,

Controlis ....... .. by employees.

A. Opposed _B. Supported

C. Liked D. None of these
P doN BT =T @ —

A. TSR B. & siffaey
C. 9%< famy | D. SwRiaa &+

The sources of working capital are -
A. Debtors "B. Bank overdraft
C. Cash sales D. All of these

ol IR 8RR $ear & —
A. BT Py B. #eIdTT By
C. <ol @1y D. 7 9§ &8 78}

Capital market deals in :-

A. Short term funds B. Medium term funds
C. Long term funds D. None of these
fexira veeres oty o & —

A. foirg B. fafanr

C. ofrarer D. Sugaa )
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48.

49,

50.

Financial manger takes decision as to :-

A. Finance B. Investment
C. Dvidend D. All of above
SYHITIT RO SFRE wiRe i a7

A. 1886 -B. 1986

C. 1996 | D. 1997

Consumer Protection Act was passed :-

A.In 1886 B. In 1986

C.In 1996 D. In 1997

URT H UM fadr sredme vy 2 -

A % B. aTmd

C. 9uR &1 ravgdar D. 579 & &g &

In India, entrepreneurial development programme has been :-
A. Successful B. Unsuccessful
C. Need of improvement D. None of these

faqor srqemRom @1 HEa ¥ -
A. FHT B forg B. SuMremmer & forg
C. S 3 forg D. g9 ¥+ & forg
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Importance of Marketing concept is for :-

A. Society B. Consumers

C. Producers ’D. All of above
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Section-B (Non-Objective Type Quesitons)

oY SN 939 (Short Answer Type Questions)

Wﬂ@ﬂ1ﬁzsazﬁagaﬁﬁqaﬂ%a%wélﬁﬁﬁﬁﬁﬁ1smﬂﬁ%w

ﬁlmwfﬁﬁwzmﬁwﬁﬂgl (15x2=30)

Question no. 1 to 25 are Short answer type questions. Answer any 15 out of

them. Each question carries 2 marks. (15x2=30)

1 Uqe & WR BT A9 fored |
Write the name of the level of management.
2 v Rigml @ wmf @ e d figel @ for
Write any three points of the n.ature of principles of management.
3. SMA® IR & el =R Tewl @ 9 et
Write the name of any four factors of business environment.
4. IE gy B fEl AR ot BT A fored
Write name of any four merits of scientific management.

5 Wuﬁwa%wwﬁ?mqa%a’rmaﬁeﬁﬁaﬁl

State any two types of planning on the basis of level of

management.
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10.

11.

12,

13.

14.

15.

WIST & A8 & AR favgait &1 sifpd ¥

State any four points of importance of organization.

IIATT H HIST B Ut it @1 A ford |

Write the name of any five advantage of organization in business.
Udh IS a1 & i A o7 9Ty |

State any three qualities of a good leader.

P R GRET & R < ARG @ Mg 3y

State name of any two methods of ‘on-the-job training.

AT B B A aremeit 1 aifpq oY |

State any three barriers of communication.

AT B T B < o BT Rored |

State any two headings of the importance of supervision.

gaT # G0 @ AR B AR et By ford |

Write any four headings of the iImportance of control in
management.

o & fooel e fferat / aofrast & m sifba oy

Write name of any three methods /techniques of control.

g9 g1 fo 9 el et e v fofat o7 e

Write the name of any three financial decisions taken by

management.

U —RerAT A Ao IR gedt o1 T R |
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16.

17,

18.

19.

20.

21,

22.

23,

24,

25,

Write the name of any four factors which include in capital

structure.
W—ﬁ%ﬁmﬂﬁaaﬂﬁmﬁ%ﬁﬁwzﬁwaﬁ@ﬁi
Name the two factors affecting capital structure.

focra AR & 5t =R @7t @y e & |

State any four functions of financial market.

A0 B 7T B P e fored

Write the two headings of the function of SEBI.

fasmaT & fo=i I "eawt a1 9 fored |

Name any four media of advertisement.

TP D U8 & s o) Rerant qared |

State any two characteristics of a good brand.

ST WREMOT FTHT & @ SRR 37 Rifeg B |

State any two objectives of consumer protection programme.
SUM & {51 3 fewanst B ofrg 3y

State any two characteristics of entrepreneurship.
WWﬁWWWWWﬁWW|
Name the needs which should be satisfied first.

fasm & @ @ o7 gerE |

Write any three merits of advertising.

tw%ﬁaﬁwawﬁa%ﬁﬁqwuﬁwwﬁr@

Name any three sources of raising fixed capital.
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O IR g (Long Answer Type Questions)

Question no. 26 to 33 are Long answer type questions. Answer any 4 of

them. Each question carries 5 marks. (4x5=20)

26, WWW%‘?W&@WWI
What is divisional Oorganization? State its main characteristics.
27, faB=axT & wee gy we PIFY |
Explain the importance of decentralization.
28, Qﬁwﬁﬁﬁﬁﬁ@ﬁﬁﬁﬁqﬁwaﬁl
Explain in brief the various methods of training.
29 TN & e @ e oy
Discuss the importance of directing.
30. wwwwﬁﬁwﬁmWWﬁmm
@ fo 9RT e @
Explain any four needs that motivate an employee to work.
3. ol vews @ @t o U P |
Explain the functions of financial manager,
32. m?ﬁaqﬁﬁwé?wﬁmﬁr?ﬁﬁaﬁm?ﬁé?

What is working capital? How js it calculated?



33.  fAuvM & 5= dig st @ arar oY
Explain any five functions of marketing.




